1R)—5

[ A Jovy 1 EBETmHRABEEERRIGAR
RRAR |[fexon—X|HEFLB| B | 2 | & BBk R|EX|ELL
RAR 4—0 oO—0 | 1| 1]|O0|4]4|0]|4]2
mEFvh—x[ 0—4 0—6 | 0]|0]|2]|0]|O0]|10[-10]3
HEFLB| 0—0 6—0 1{1]0]|4]6|0]|6]1
[ B JRvyYy 1 HETHRABRELRZRISAR
7R |R+bAVY| NIOEA | B | 2| 8 (318 E% SSK|IE S
7 A< 1—0 2—0 | 2|0]|0|6|3]|]0]|3]
Akavyl 0-1 0o—2 | 002|003 |-3]3
Nogka | 0—2 2—-0 tj{o|t1]3|2|2|0f2
AB7OvY [BAEPRAME] REEEE Bi5 AR
B P it B F — L TE/A4E| B B
1] A]09:00 HAMR 4L~ J0o ®MAFyH—X F7AT |(RbtOvY
2| B|9:50 7 X< 1 — Jo S = B2 BRAR |fkEyn—x
3| A|11:10| FIkFvHh—X O[ —  ]6 HEFILB A kayS| NIO®A
4 | B[12:000 RbrB2Y O — ]2 NOgE ks n—X| FEHILB
5 A|13:20] $EAILB of — Jo BAMR noga | 7X<
6 | B|14:10 NOgE oL ~ J2 7 A< HERILB| HANR
[ c Jovy 1 HEmHRABEEERZSEBE
= R O|UrtnauIrmearon—x| RTR | B | 92| 8 [BRERKR|GEIEL
= R 7—0 8—0 3—0 [ 3|00 ]|9]|18]0]|18]T
YrLALIY| 0—7 6—5 0o—4 | 1|0]|2]|3]|6/|16[-10]3
wratyh—x| 0—8 5—6 0—8 | 0]|0|3|0|5[|22(-17]4
TITH 0—3 - 8—0 2101 6]12]3]9]?2
cC 7AvY [#E+EBE] REEREE HiR H—
B P it B F — L TE/A4E| B B
1 9:00 [f&r&BFvH—X O[ — ]8 ZITH = | O |UrraLoy
2 9:50 = R 70— JO UbRLALTY |mrexun—x| RITE
3 1:10| Yy ka4 oL _ 4 TITE = B |mrexvn—x
4 12:00 = R 8L _ JO mMyra¥uh—X [vrrarIy| RITE
5 13:200 YUbLq4LTy 6 _ 15 mMraxvh—X | RITE = R
6 14:10 ZITH of ~ ]J3 = & U RAA LIS | By a%yh—x




1R)—=Y

[ D 7AvYy 1 HEGZEWESSRE
M- | ARER | W Ig B M| B 9| 8BRS R KRR ERER
AN{7745-2° 4—1 1—0 9—0 (3|00 |9 |14]1]|13]1
aAXER| 1—4 4—1 6—2 (201|611 7]|4]2
oo 0—1 1—4 7—0 1102 ]3]|85]3]3
3] 0—9 2—-6 0o—7 0|l0|3|0]| 2][22(-20| 4
D JAwY [HELEMEE] SEEEE KF EE
B xt 7 F — N TE/4E| B B
1 9:00 oo 7~ ]Jo B ™ A47745-3 | ARER
2 9:50 AD47744-% 40 It ORER oo B T
3 11:10 JRER 6C — ]2 B ™ AATT45-RT | #D U
4 12:00  A#47745-%" 1 — Jo oo JRER | B
5 13:20 ORER AL N v B | AI745-%
6 14:10 B ™ oL — ]9 A4I745-3" JRER | WA
[ E JRvy 1 #HEGZEMEESHAT
HoUER | Nl O 27T« FH— | B| 5| & [BaSaka8KERL
H iU 1—1 11—1 12—=0 | 2|1 {07 |22 |22]1
no 1—1 7—2 6—0 (2107143 |11]2
JrALTF4| 1—11 2—7 1—0 [ 10|23 |4]|18(|-14]3
FHE— 0—12 0—6 0—1 010|3]0]|0]19]|-19] 4
E JAvY [HELEMER] SEEEE KF EE
B xt B F — N ITE/4E| B B
1 9:00| Z7hrT« 1L _ ]O FH— HoUER | NIl O
2 9:50 H 5 UER [ b noa J7hLT4| FH—
3 11:10 noa 6 ~ ]Jo FH— HoUER |77 AT«
4 12:00 H o U ne 27 hILT 4 no FHE—
5 13:20 noo A V' 27 hILT 4 FH— | ho U
6 14:10 FH— of — J¢# HioUER N o |zrhnsa




1R)—=Y

[ F Jovsy 1 #HEGALFEYYH—I5
HEEM | FA= B R B | 2| B |BR5R|K RS KBS
HEEEM 0—1 1—4 0— 0|0 3[0|1]9]|-8]|1¢4
FE= 1—0 0—5 o—3 [t1|{of2|3|1|8]-7|3
Rk 4—1 -0 1— 21110 71]10]2]8]T1
* 4—0 -0 1—1 2111078172
F JOowvsd (FrEE 4] RIGEEE #HAR T
B *t B F N FE/A4E| B B
1 9:00 BhR [ S b % WEEm | FEZ
2 9:50 7 5E 0Y oL — It FEZ= R *x
3 11:10 FH= oL ~ 3 % HEEM | R
4 12:00 T EEE 1 - )4 BhR FHE= *
5 13:20 FEZ= of ~ J5 BRPR * T EE Y
6 14:10 * AL~ Jo FEESE FEHZ | bR
[ ¢ 7avy 1 #HEHGAKMNABLEYYH—I5
BEFyH—X| FELKAK I—R |Lyyryn| B | 2| & [BaSA%AENIES
EREvH—X 0—2 1—8 1—o0 [1|{of2|3|2|10[-8]3
ELK 2—0 0—6 3—0 2101 |6]|5]|6]|-1]2
I—2X 8—1 6 — 2—0 (30|09 |16]|1]|15] 1
Lyy7Hal 0—1 -3 0—2 0/0|3]0]|0]|6]|-6]|4
G JAavy (#REEXFNE] RIGEEE AE R
B i xt B F N TE/4E| B B
1 9:00 I—X 20 _ Jo LyyT7HHh |ERfys—x| E&EK
2 9:50 | EEXvH—X O[ — ]2 ELAK I—X |Lyvror
3 11:10 ELAK 3C — Jo LyY7PHH |EEXv»—x| IT—2X
4 12:00| EEFXvH—X 1[ _ )8 I—2X ELZK [LyyFyah
5 13:20 ELK of ~— s I—2X Ly Y745 |eExyh—X
6 14:10 LywyrHh oL — )1 EEXvH—X ELK I—2X




1R)—=Y

[ H JavYy 1 MAHEERS
NIIZO| LY |[FEHFC A| | o | & |BA1E A%k A5 X|IEA
NIIZO 0—3 0— 0jo0|2|0|0]|5]|-5]3
LY 3—0 0— tlof1[33|2]1]2
FEHFC A| 2—0 2—-0 2100|640 4|1
[ 1 Javyy 1 #MimEES
ks LIv|FRIA RO JIIAZE | B | 52| 8 (BRSRRRSXIERL
ML LT 6—0 4—0 (20|06 ]|10]0]10]1
sEI L7y 0—6 o—5 (0|0 |20 O11]|-11]3
naz 0— 5—0 tlofl1[3|54]1]2
H1IZJAwvY (Fn:EBi5] RIGEEE EE B
B xt B F — N TE/4E| B B
1] H/|9:00 NIIZO of ~ ]J3 LY kA LTI FTY
2 | 1950 #kq4LT>y 6 ~ JO0O HEIALDY [NI1ZO| LY
3| H|11:10 LY oL ~ ]2 FHFC A sEI/ Lo JIIOZ
4 |1 |12:00| T4 7> O —  J5 noz + LY |FHFC A
5| H|13:200 FHFC A 2~ Jo NIIZzZO A%z (fmkariy
6 | 1 |14:10 noz of — J4 fM¥4q4LTJ> |FEFC A|NIIZO
[ v 7BavyY ] BERHREITSVFR
FCRE | £FK | =HL0 |mExvr—x| | 9 | & [BalEalkslELEs
F CRAE 10—0 0—3 4—0 (201 |6 [143[11]2
FK 0—10 0—18 o—9 (o003 |0f|o0][37]-37]4
f=¥L®d | 3—0 18—0 6— 1 3100|927 26 | 1
EEFvHA—X| O0—4 9—0 1—6 t{of2|3|10[10[0]3
J Jaovy BEARRE RIGEEE dil  FEH
B xt B F — N TE/4E| B B
1 9:00 t=FLm 6 ~ )1 @EE¥vH—X | FCREA| LFKX
2 9:50 F CRE o ~ Jo - N LD |@Eryn—x
3 11:10 EERXR of ~ J9 ®@EREFXvH—X | FCER | EHLD
4 12:00 F CRE oL ~ 3 IFLD EK |mEryr—x
5 13:20 EEX of — J# =1L d EEFvH—X| F CHRME
6 14:10| ERFvH—X o[ — ]4 F CFA FEK | zFLD




1R)—=9
[ K Javy 1 JlOomsaiRdyh—i5
#EFC | & X F ¥ | RTIFC | B | 7 | & [BREAXAEFKIER

iR F C 0—6 0—6 0O—4 | 0|[O0[3]|0|0]|16]|-16| 4
W 6—0 0—3 1—2 | 1]o|2|3|7|5|2]3
= 6—0 3—0 3—0 [ 30|09 ]|12]0]12]1
ZTFC | 4—-0 2—1 0—3 210 (1|6]|6|4|2]2
K ZRawvY Uno#iR] SBEEEE ZH &

B Pl * B F — Ls ITE/AE| B &
1 9:00 B 17 3C — Jo ZITFC MIEFC | & &
2 9:50 #MiEF C of ~— s B W F & | ®fiFC
3 11:10 Z M [} G Y ZITFC #wiEFC | F ¥
4 12:00 #MiEF C oL _ Je6 F & B & | RITFC
5 13:20 B M oL ~ 3 B 17 ZI{TFC | #iEFC
6 14:10 ZITFC AL~ Jo #MiEF C B W B 1F
[ L vy )] JOmFcHILEY Y Hh—15

oM iR 17 E R & M| B 2| B |BRERXREXIELL

;O 0—4 1—5 o—10 | 0| 0|3 |01 [19[-18] 4
B 1% 4—0 3—0 o—1 | 2|0 1|67 |1]|6]2
E R 5—1 0—3 0—6 11023 |5(|10]-5(3
e ® | 10—0 1—0 6—0 3lojo|9f17lo[17]1
L Ay U gR#] SBEEEE fh BT

B el * B F — Ls TE/AE| B &
1 9:00 E R oL _ Je B ;oM | 8 IR
2 9:50 ST of — J4 iR X g R 18
3 11:10 B 17 oL ~— 8 wo®m | B R
4 12:00 ST [ S I E R R 1F & m
5 13:20 B 17 3C ~ Jo £ R B B | O
6 14:10 B 1ol _ Jo S RO | B R




1R)—=Y

[ M Javy ] JIOHmENZESHSHE
TR/M| W B OE | LERE | B | 2| 8 |BREEXREXIEL
2R/ I 0—1 5—0 1—0 | 2|0|1]|6]6|1]5]2
Wg A 1—0 6—0 6—0 S{ofOo |9 [13]0]13]1
moE 0—5 0— 0O—4 | 0|O0|[3]0|O0]|15]|-15| 4
BEAE | 0—1 0— 4—-0 11023 |4|7]|-3|3
M JBavY  [IBESBER] RIGERE BEF #FX
535 xt 7 F — N ITE/4E| B B
1 9:00 MmO of — J4 - =] ZHR/ M| WIH
2 9:50 ZHE/ N oL — It WgH m E | LEKE
3 11:10 WNFH 6 ~ ]Jo EEKRFE ZhE/ M| M E
4 12:00 ZHE/ M 5 ~ Jo moE WFH | LEKRE
5 13:20 WNFH 6 — JoO | FARE | 28/ M
6 14:10 EEKRFE oL — It ZHE/ N WH | | E
[ N Javy ] JIAHmENEESHSHEE
EAhR | SR [FAFC B| V59X | | 2 | & (BR|5H%AEXIER
FARPR 4—0 5—0 0—3 210 1[6]9]|3]|6]2
BEsrE| 0—4 1—0 0—2 11023 1]6]|-5]|3
FEFC B| 0—5 0—1 o—2 |0|0|3]|0|O0|8]|-8]4
259%| 3—-0 2—-0 2—0 3fojlofl9f7]0|7]1
N Z7Av% [IDL&EE] RIGERE KR F=
i53i5 xt B F — N ITE/4E| B B
1 9:00( FHEHFC B Oo[ ~ ]2 A DS FERBR | HELYE
2 9:50 HFARGR 4L~ Jo HEs R FEHFC B| ¥5v%
3 11:10 BErRE of — ]2 APk HFARHPR |[FEFC B
4 12:00 HEARpR 5C _ ]J0 FHFC B BMErE | 959F
5 13:20 SR 1 - Jo FHFC B V59x | ERPR
6 14:10 D5 v% 3C ~ Jo FEARPR BEr R |[FEFC B




1R)—5

[ o Jowsy ] FHWEBARYYH—I5
FHE |HFEALA| EA8K BRI | B | B |BES AL aBK|IESR
FHME 0—4 1—1 6—0 111|114 7]|5]2]2
HWEAILA| 4—0 12—0 9—0 | 3]0 0] 9|25 0]|25]°1
EA/K 1—1 0—12 3—0 111 1]4]4]13]-9]3
'R 0—6 0—9 0—3 olo|3|0]|o0]|18(|-18] 4
o Jawvsy (FEEHE] SHEFE £ RE
i *f B F — Ls FE/A4E| B E
1 9:00 EAK 3C ~ ]Jo FAA FHE |HFEALA
2 9:50 FHME of ~— )4 HEER LA EA/K FAI
3 11:10|  #FHEFLA oL —  Jo AL FH® EA/K
4 12:00 FHEmE [ S b E AN HERILA| FAI
5 13:20|  HEEAWA 120~  JoO EAK HFKIt FHEME
6 14:10 A4 of ~— Js FHEmE HERILA| EB8K
[ P JOvwy 1 BEmidb/hER
BRALET FCE |(vyvessay| | o | A |Ba1E A% a5 K IE:
BRALET 1—1 o—6 [0 1| 1] 1]1]7]|-6]3
FCHKE 1—1 1—2 0| 1|1 ]| 1]2]3]|-1]2
LyykESIy| 6—0 2—1 2100|681 7]
P JAOwvY [B&At/] RIGEEE INR B
i *f B F — Ls FE/A4E| B E
1 09:00 FRACET 1[ J1 FCH LyykSIv|Lyyksay
2 10:30 FCH 1~ )2 LywykKS3y FRILHT FRILAT
3 12:00] Lywy kK>3> 6 ~  ]JO FRILAT FCH FCH




